50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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' 4mm in radius and 2m apart. Determine the capacitance of the same line taking into account

Module-l -
Explain with help of a neat diagram. the typical transmission and dlstnbutlon s/s scheme.
: (06 Marks)
A transmission line conductor at a river crossing is supported from two towers of height
50 and 8m mtrs above ground level. The horizontal distance-between the towers is 300mtrs.
If the tensmn n the conduct‘ ) 2000Kg, ﬁnd the clearance between the conductor and

(06 Marks)

OR ‘
Derive an expression for the sag when the supports are at equal height. (07 Marks)
Define string efﬁc;ency? List the methods f improving string efficiency and explain any
one method o 4 (07 Marks)
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f the string i) Strmg efficiency. (06 Marks)

1) Maxunum safe working voltageii

Module-2 T
Derive an expression for the inductance of a smgle phase two wire line. (07 Marks)
Find the capacitance of'a single phase line 40km long consisting ‘of 2 parallel wires each
4mm is radius and 2m apart. Determine the capacitance of the same line taking into account
effect of ground. The height of conductors above ground is 5m. (07 Marks)
A two conductor single phase line operates at S0Hz. The.diameter of each conductor is
20mm and spacing between the conductors is 3m. calculate:
i)  Inductance of each conductor.per ken
i1) The loop inductance of the: hne/km

1) The inductive reactlve\ (06 Marks)

OR

effect of ground ‘The height of conductors above grand is Sm. (06 Marks)
13310n line 100km long has its conductors of 0.6m diameter spaced at the
comers of an. equllateral tr1angle of 100cm side. The arrangement is as shown in Fig Q4(c).
Find the inductance per phase of system.

— dia = 0s b6m

Fig Q4(c) (06 Marks)
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Module-3
Derive an expression for sending end voltage and current f
Rigorous solution.
A 3 - ¢ transmission line is 400km long and caters a load 450MVA 0.8pf lag at 345kV.

The ABCD constants are A = D = 0.8181 [1.3°. B = 172.2 |84.2°C = 1.933 x 107
90.4° mho sending end current and percentage, Voltage drop at full load. Also calculating

ong transmission line using
(10 Marks)

receiving end line to neutral voltage at no- lo d. Calculate the sending end line to neutral
voltage (06 Marks)
Discuss the classification of overhead transm1ss1on line. (04 Marks)

Explain with vector diagram the 1ominal m-method for obtalmng the performance of
medium transmission line. (06 Marks)
A 3-¢, 50Hz overhead transmission lie 100km long has the full constant
Resistance/km/phase = 0. 1Q, inductance Reactance/km/phase = 0.2Q, capacitive
susceptance/km/ph = 0.4:x 10 4 Siemens. Determine :

1) Sendmg end curre t "ii) Sending end voltage 11ii) Sending end power factor

(06 Marks)
Deﬁne the terms rel ted to performance of transmission line
1) voltage regulatlon i1) efficiency o, (08 Marks)
“Module-4
Discuss, the factor affecting coronaand corona loss. . (06 Marks)

A 3- d) 220kV 50Hz transmission line consists of L. 5cm radius conductor spaced 2 metre
apart in equilateral trlangular formation. If the temperature is 40°C and atmospheric pressure
is 76cm, calculate the corona loss per km of the line. Take my = 0. 85 and go = 21.2kV/em.

(06 Marks)
Derive expression for the capac1tance of smgle core cable. (08 Marks)

) Visual critical voltage.
“““ (06 Marks)
Explam capac1tance grading. - (08 Marks)
A concentnc cable has a core diameter of 0.8cm. The sheath diameter is 3.2cm. if the cable
is tested ' with a voltage of 33kV calculate maximum and minimum stress in the insulation.

: (06 Marks)

A,

Module:S

Explain Radial fee» r for AC dlstrlbutmn system. Mention the characteristics of Radial

feeder. (06 Marks)
Define : 1) Rehablhty ii) Adequacy iii) Availability iv) Security (08 Marks)
Write a note of Power Quality. (06 Marks)

OR
Explain secondary dlstnbutlon system :
i) 3 - ¢ distribution 1) 1- ¢ 2 — wire system. (07 Marks)
Write a note on limit of distribution system (06 Marks)
Explain Ring feeder in Distribution system. (07 Marks)
% %k ok k %
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